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Y
X1
+ B nXn
X
A B C D

1
2
3 (Y) (X) (W)
4 1986 204 252 1450
5 1987 212 257 1724
6 1988 222 271 2070
7 1989 233 284 2244
8 1990 244 298 2490
9 1991 251 311 2487
10 1992 257 317 2383
11 1993 260 319 2243
12 1994 267 324 2220
13 1995 272 327 2263
14 1996 279 328 2246
15 1997 281 332 2260
16 1998 280 335 2282
17 1999 280 334 2262
18 2000 284 334 2360
19 2001 288 330 2353
20 2002 290 334 2306
21 2003 293 339 2303




Excel

X C4.D21
R 0.983301
Rz 0.96688
R2 0.962464
5.375486
18
F
2 1265351 6326.753 218.9503 7.96E-12
15 433.4377 28.89584
17 13086.94
t P- 95% 95% 95.0% 95.0%
-40.2968 1459489 -2.76102 0.01456 -71.4051 -9.18854 -71.4051 -9.18854
X 1 1.04683 0.069044 15.16169 1.67E-10 0.899665 1.193995 0.899665 1.193995
X 2 -0.01169 0.007643 -1.52991 0.146852 -0.02799 0.004598 -0.02799 0.004598
-Y
1 206.5482 -2.54825 -0.50466
2 2085783 3.421723 0.677651
3 219.1878 2.81218 0.556935
4 230.7619 2.238121 0.443246
5 2425408 1.459191 0.288984
6 256.1847 -5.18468 -1.02679
7 263.6818 -6.68183 -1.32329
8 2674126 -7.41263 -1.46802
9 2729157 -591574 -1.17158
10 2755534 -355339 -0.70373
11 276.799 2.200981 0.435891
12 280.8226 0.177374 0.035128
13 283.7059 -3.70585 -0.73392
14 282.8929 -2.8929 -0.57292
15 281.7469 2.253101 0.446213
16 277.6414 10.35856 2.051449
17 282.3784 7.621632 1.509417
18 287.6476 5.3524 1.060009
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(www.stat.go.jp)
Excel (http:/AMwwi.stat.go.jp/data/nenkan/index.htm)

(http:/AMwwi.stat.go.jp/data/ssds/5.htm)
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Y
X .. 65
Z ... 10
W
I
A (A2:A48)
Y B 2
2-23
1000 K B
X C 2
29 3 17 65
(N ) K ) N G K
H Cc2 =G2/H2*100 C
Z 21 21-21
W 26 26-5
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0.5 06 )
24 23
R 0.982482
Rz 0.965271
R2  0.962848
0.249817
47
F
3 7458877 24.86292 3983895 221E-31
43 2.683569 0.062409
46 7727234
t P- 95% 95% 95.0% 95.0%
0.928242 0468525 1981201 0.053987 -0.01663 1.873112 -0.01663 1.873112
X 1 0.405313 0.018748 21.61935 1E-24 0.367505 0.443121 0.367505 0.443121
X 2 0.000482 0.001059 0.455605 0.650966 -0.00165 0.002617 -0.00165 0.002617
X 3 -0.00968 0.00254 -3.80983 0.000437 -0.0148 -0.00455 -0.0148 -0.00455
- (Excel 1)
z —Z(Excel 2)
W -W (Excel 3)
0.965 0963 1




